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PART. 1
2T [WATET O o PPN / CoppUTER SCIENCE

(Vocational Component under Genel'al Stream)

(S0P wOMID oy iid)gy QU / Tl & English Version)

gra 1e1ey : 230 weanfl Cryid | [ Qurés wUCueTsEr : 70

Time Allowed : 2 : 30 Hours ] [Maximum Marks : 70

SlejenrTaet : (1) Simas ) Qﬂmrr&a;@m sflurs UHeurdl e arargn erenLgenar
&iﬂ.urrr'r,ésgués QGWGiTGTTmLh_ &g&gug‘,]aﬁleb Geonullmuier, 2emms
seamaranfliumerf 2 aigWmES Qs fMedlsseib.

2 Beow Shag @Oy ewui@a LLHCw TWsUsHELWD,
SiqGarg Heusmeib Uweu@pss CeuaTBLd. ULBIGE aimraugsnE
Queéled Lweru(RSsae] L.

Instructions : (1) Cl.wck the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@g) - 1/ PART -1

Qer@ésuul_(Berer wrom e sefid Waab gnUmLw loLows
GsimsBHsas @GN HLer dlauleamenb Csrsg er(pseyL. 15x1=15
Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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ot 2PTOW S5 ryaey 2 DTS 1o . '
. . - . N . . . .r-l) G.u
1. e wisds a;rrL.L.LJU"‘@d&rmggl_Lq.aﬂ@E@ Ths s QUEDEG Siengs

Gsirey Qa5 Gen & @g Gsire Qe

Geuamr®ib ?
(A) NoD (B) No Valye

o Data
© NoFil (D)  No Color

0

electin . L

Tttt highlighﬁng after 5 g the text, which option is to be selected from
color palette ?
(A) No Data (B) NO Va]ue
(C) No Fill (D) NO COIOI

QLT gpoelben enpLL i S@EEHT Qsrnflow grb awg DD G g
urssHa ereueuara) @HEED 1

(A) 15 siREew (B) 05 smEow

© 1 smEb (D) 1.25 GRiGIb

In StarOffice Writer document what is the default left and right margins ?

(A) 1.5inch (B) 0.5 inch

(C) 1inch (D) 1.25 inch

S LamansGarido, Agruidédlurs o dror p@marempsmer @eiary
SIDPLILIIT :

(A) peTemansET (B) euflenssen
(© wriy (D) ©wwb

A continuous group of cells in a Worksheet is called as :
(A) cells (B) rows

(C) range (D) group
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prar gomilen Al Diememtan g | Gty 1
i GT 6o e Jnl o Gl ey el ¢ . .
n_ﬂlg"r cr'@m m ‘;]h.l_“]-- mu_;@;n Qg ey i) gurdf 2 - AD [sleameng )
Gawlas 6Thg (pLunflloney LRT T |;méru@,&,mmu|i1 »

reir 2 <w AT [Biehresa sy

(A) =SUM(A1+A2)

(B) =SUM(Sheetl.Al; Sh(wl'l.f\."‘-)

(€) =SUM(Sheetl, B4:C4; Sheet?, Bd:Cq)

(D) =SUM(Sheet1.A1; Sheet2.A1)

To add values in cell A1 of Shee

i _ o2 and to store the result in A’
Sheet2, which 3D formul Land A1 of gheet2 and to store the result in A3 of

a can be used ?

(A) =SUM(A1+A2)
(B) =5UM(Sheet1.A1: Sheet1.A3)

(C) =SUM(Sheetl, B4:C4; Sheet?2, B4:Cq)

(D) =SUM(Sheet1.A1; Shcel2.A'l}

greneud GHl&EWD Data eremm Qe g Qeraalleadlmbg aumilamg ?

(A) Datum (B) Information

(C) Data (D) Data type

The term data comes from which word ?

(A) Datum (B) Information

(C) Data (D) Data type

[ lmiiys/Tum over
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A Qerdi@n G .
6. @Gy Gprsfd 80 Cﬂl;fgmmm jmmﬂig:mimw% ARETR@sT
auflensiLBSEID 0,05‘”9@
(A)  sreygand B) ubte afl@surss
© @ifsos D) amspse
Sorting of more than oné field of 2 Table at the same time is called as :
(A) Database (B)  Multiple sorting

© Report (D) Filtering
ep

7. ah BlopuLs CamiILsa QUL augaieailieus Qsramgr@h ?

(A) MPEG (B) NxVIEW
(©) JPEG (D) GIF
Which Image files are a lossy format ?

(A) MPEG (B) NxVIEW
(©) JPEG (D) GIF

8. s Qursmen Mapsgso (PI&EGD ?
(A) Shift (B) Tab
(C) Alt (D) Esc
Which key is used to end a presentation ?
(A) Shift (B) Tab

(C) Alt (D) Esc

ﬁi-"w-f'-..'_w-'-'f-‘-- - = = —
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g, Ctt -, EPESETED G AL aflens f)gpy ol 555SI6G 2-50ifng ?

(B) Y (B) \t
(&) Aa (D) \n
Which of the following escape sequence can pe ysed for Horizontal tab in C++ ?
(A) \v (B) \t
© \a @) \h

10. SpésramueupBld ‘m’ -er iy wirgy 7
nl=7,n2=8 m=nl1>n2) ? nl:n2 >

(A) 8 (B) 0

© 7 (D) 1
Find out the value assigned to ‘m’ where n1=7, n2=8, m=(n1>n2) ? nl:n2;

(A) 8 (B) 0

< 7 (D) 1

11.  syRseT @eueurm Siewpssliu@damen
(A) omHled (B) wdlyméser
(C) ENCuwWIrsET (D) er(psaiEHeT
Strings are called as :

(A) Constants (B) Literals

(C) Identifiers (D) Characters

[ AmLiys/ Tumn over
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12,

13.

14,

diaiiLBang 7

) speassoucs @il O S0HUS faiey

© <igiueaL GasEY O) Bodbaiuc, Bensizg
. gt is C ” 'd :

During inheritance the existing class > “alled as

(A) Declared class (B)  Abstract class

(C) Base class (D) Derived class

v QummaCrrés ﬂua}ﬁé&@ﬂ@ S ULenL Wiren UamUs sammgtn ?
(A) syey wermLUIY (B) wryflww

©) een Qurdurésnd (D) Simeuorésid

Which is the key feature of (Object Oriented Programmings) OOPs ?

(A) Data hiding (B) Inheritance

(C) Encapsulation (D) Abstraction

L@mSH L uuilureued agsman psamwUrar ughoasamas
Qaramsg ?

(A) pren (B) @pg)

© Qren® (D) epeny

How many main steps are involved in Medical Transcription ?
(A) Four (B) Five

(C) Two (D) Three

"}
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a K U.in%J N X |51 L] .
4 sLLUPDUTET P@DUID G5 sanfly) . _gaag oamuiie
1 gepaas QAN JAowisang - "0 enpertotd®

T2 L& &)
(A) 27 &8 (B) sigg ALY

(D) g a TP
[llegal access to the network or compuyter syste lled @s
m js ca '

©) urgsriderenin

A) Cracking .
(&) (B) Accessibility

(C) Insecurity (D) Daty Management

UGS - I / PART . 11

gCamId M s Enés e welgsaun, oeupded Aenm eraim 24 -&&
gerigILNg eflenL_wiaflsae,ib. 6x2=12

Answer any six questions, in which question no. 24 is compulsory.-

16. QerHQAFLOTESD TaIpTed eTanar ? QsrpQeudésg gCsaud Grem®d
T (HE5ISST_(H&ET &(Hs.

What is Word Processing ? Give any two examples for Word Processors.

17. senalil, AREGSHILIL eTennmed erenar ?

What is Header and Footer ?

18. @i Laumamdgnailds sreyseen eresaumm uFLLMmie, Qeaweumd ?

How do you edit data in the Worksheet ?

19, Bar @l Leuemens Qswel erempmed erener ?

What is an Electronic Spreadsheet ?

[ SmLiys/Turn over
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20. Sy GO cuanys :

(1) 2 (BorHmib G}Ju'.]gasb
@ 2 msgmwssd
Write short notes on :

(1) Morphing

(2) Warping

21 @gmﬁ)%@ umﬂtﬂ@ﬁ!lﬁ]ﬁ.ﬂ aﬂﬁ@%‘mﬂ)&;m Wirengy 7
What are the rules for function overIOading ?

22, udQImeITEsD eTempTey erama ?
What is polymorphism ?

23. & (haar STeTUg| wing) ? THSBEFTD (s
What are pointers ? Give example.

24,

2 engnieniw Sedayafen (Getmaran QUETERTEEDS Gradient ~D@ 6T WmhHmjeum ?

How do you change the background color of Yyour slide into Gradient ?

u@& - 111 / PART - 111

aGseb oum) cllenée@péeE eflenwellésayb. efanr orair 33 -5 S6tsiiqILNG
aflen L weflésew. 6x3=18
Answer any six questions in which question no. 33 is compulsory.

25.  GOLMT BhoolSev enri_LMed o drar vaoGam usH @esaismer wiaumhbler
eflensliLens GnsHs auflyen Ll wel@Hs.

List the various types of par

agraph alignments along with their keyboard shortcuts in
StarOffice Writer.
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32.
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Y

. ] 4 .
: Sheelian @ g e s
QoL O}y ¢ TQAD T LA ‘_QEL_I_QI(W;annLﬁ]ﬁ, Q) af c,t‘dlﬁ\-'"[m Gamiumi ?
Y Quill gnamene '

tlow will you add rows in a Table ip o
, N StarOffje
¢ Wyiter ?

S <Dhe oLIAN EHITAQEQ 1idre . ;
QLT <She sIG0 HITQE R BI@ID Linjiane, e QT upl S @Gy
Q@S Wil _qul6o
Write short note on types of cell referencing i StarOffice Cale.
! DU ;
S1@) HYID HEQID UHH Ny @@ s
LN

Write short note on Data and Information

Qg SLGSBE@EEGID, SIRUOSEBHEGD v_cirer (BmlDJiUlr@endr wirened ?

What is the difference between Filters and Query ?

QAU -G HLL@AT NI q@eb@éhm][L@l_Gb[ GT(LD&I&.
T

Write the Syntax of Type definition with example

C++ -6 Qeupsam erampra eravar ? Qewpanmsafle [HETGHLOSET Wenau 7

What are functions in C++ ? Whal are the advantages ol function ?

Am GO uenTs :

() efemwuier pHorssd
(i) mam Hlyed

(i) selu@umdl ST OUTEHSLD
Write short note on :

(i) Piracy

(i) Virus

(i) Data Digitization

e

[ Hpuys/Turn over
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S TR (it LA 0
#inulud@dngmﬂnhl'?
ﬂhmlllﬂthfgmj]]o,}:? '
Ohigy o] = ('8!, W, fe, :d', 1w, 1

vold Haiy()
{

Tor(Ing o0 p<p14 )

cout<=qh|];

for(int j=a;):0f..)

cout<-chjfy;
Ketch();

1

What is the output of the following program ?
#includc<iontream.h>

#include<conio. hs

char ch[] = {‘a’, ‘D', ‘e, ‘d’, ‘o, i

void main()

{
for(int i=0;i<5;1++)
cout<<ch(i;
for(int j=4;j>=0;..)
cout<<ch[j];
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yﬂﬂmgﬂ N &HS (EHS (G aﬂml'—u'laﬂé’g’ﬁmh. 5x5=25

qwer all the questions.
L

" gL &5 Qe Gumpg ereueumgy TWHEIL Gepip@L gfl Qalieumil ?
3|6V60 g

SILLGUEHENT BUIq @b L& Ll iq (it any_y9g, . @@Lbul_ma;erﬂéﬂ
CoueneEHET GTEIET ?

How will you correct spelling errors while typing the document ?

OR

What are the various functions of the icons in the Table formatting toolbar ?

5. GULITT Doodeh &srodléd Qurmer GCsrgz a;@aﬁh;iul'_@)l_uﬁ]@_ldTaT
GmbUL RIS eflaufl.

2{60608)
oL euenané Qewelure efeemuyd pameosemer UL iguied(Hs.

Explain the different icons available in Insert Object toolbar in StarOffice Calc.

OR
List the advantages of using Electro ic Spreadsheets.
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- - :','3; 'C‘?";TTL; r&&l.-
T+ -3 Qeupsap@>C — TOPSWE 960119 aaidgen o C .
S e BEmka . DLl dusg FCs@D B0
SEmany s upn 5EE YV Lol & oSaud

19&6'9@35]

FAL N R - L_EDIT —Biann iy I .. i .
for o Eflanar DiFer B =iy DO sTREgSsT(HLar adlaurl.

-

; ¢ e of p r-
0 & expilem aor o2 mefhod O parameter Passing in Function with example.

OR

Siriam e oy’ loop with IEX 20d example.

Py g - -u.'-“‘rﬁ‘ 5 o a0 ~ ~ v - - C
255 ofpd S H0AES BI/TLNLY wHgd LwaUL@SsRESTEr
WS ST ST LITEna) 7
R

sEREsCulL Bassydd SLLoa s@niy urg ? sHalssiul L

P - = 3 B
FTEm paa warunssoburg Saunn Cadme s afSlwanss wrea ?
Wzt zmz Te mmies for Comstactor 2nd Destracior definition and usage ?

OR

W= T svmi for devived dass. What ave the points should be observed while defining
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g a HEHET QUEDEHENG| | |
A IO L Lyh) WMo
- Dldsoy,
50 20T BT Lig gy “eraugy, o

i &,
#include<iostrenm h> “"”"ﬁf’-%éz@ efanl. (PGl
pinclude<conio h>
clnss distance
{

int feet, inches;

public:

void diatance_nnsign(int f, int 1)

{
feet=f;
inches=i;
}
void display()
{
cout<<“\n Feet :"<<feet<<“\t Inches :”<<inches;
}
distance operator+(distance d2)
{
distance d3;
d3.feet=feet+d2.feet;
d3.inches=(inches+d2.inches)%12;
d3.feet+=(inches+d2.inches)/12;
return d3;
}

%

[ & mUys/Turn over
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void main()

{
clrser();
distance dist_1, dist_2;

1)
dist_l.dlstance_assmn(lz’l )

dist_2.distance,assig”[24'1);
distance dist_3=d15t—1+dist'2;
dist_1.display();
dist_2.display();
dist_3.display();

getch();

}

() uvellguule QeupGhlenw L wrerd Sreaws
(i) werflllguulL e miyF Cewpsedler wereigeel eT(Pss

(i) uweflflgssiul L eup@EMuid LTRSS L Heter QswGaniGsealer
@ard wrg ?

(i) wvenldl@dsinlL o mlgs Qewupsdoa QUEED sabhbleer T(LPSaLD

(v) GG Qaer@ssiu Garer Birailar Qauau§i enr (D)5,
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Explain different types of Databas&t;

OR
Read t]?ie fOuo“ring program al'\d anq‘\ve
’ T

' e . capy Delow !
ginclude<iostream.h> Questiops given

ginclude<conio.h>
class distance
{

int feet, iIIChes;

public:

void distance_assign(int f, int j)

{
feet=f;
inches=i;
}
void display()
{
cout<<“\n Feet "<<feet<<\t Inches :"<<inches;
H
distance operator+(distance d2)
{
distance d3;
d3.feet=feet+d2.feet;
d3.inches=(inches+d2.inches)%12;
d3.feet+=(inches+d2.inches)/12;
return d3;
}

|5
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Tnid main|)
i
t
t )
Tirser|};
1
E distance disg 1, dist 35
E de::_l,tiis:an‘cr:_nssign{JBJj”
¢
k .
; dist_2.distonee nssimni24d)
: distonee dist R=dist 1-+dist 3
dist_l.disploy();
dist_2 disnley]);
.y ]
dist_R.displey|};
getsh():
1
]
(i)  ldentifv the aperator that is overlanded.
(i) Write ont the prototype of the overiandad Taombee Fonesns
(i) What types of operands.are used for the sverlandad emerzra: >
(fv) Write aut the statemeant that invokes the ovetlaadad mamner S
(v) Write the output of the ahave program.
i

Relet
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